=
<

a(d cot(d))

o(0 @) (rad)

1072
1072

1.z

IS (B 1

Ratio

0.9

iy
TITTTTTH T TTTT
%
+

[ LanaRaEERER R
Ny i T
|
=

-2 -1 0 1 2 3 0 1 2 3
TP n (PCA to beamline) TP n (PCA to beamline)

—=#— DQM_CKF_TT_base

—— DQM_CKF_TT_retrain

z

SICEWACL
aloa,) (cm)

107}

1072

1072

1078

1.2 1.2

Ratio
Ratio

+

iy

W

4 b i 4

1 2 3 -2 -1 0 1 2 3
TP n (PCA to beamline) TP n (PCA to beamline)

[y
TITTTI[TTT T
2

0.8

0.g!

|
w
Ny = : : L : =
|
N
o

=

0P /P,

,_.
<
L

1072

12f - f-p-

Ratio

[y

1 2 3
TP n (PCA to beamline)

N uaasmansn
N : E
I
iR

0.g!



	Contents
	Page 1


